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10.

ARLINN
TOeE, T Toymn ZRBLe Iy TIREFODY, WRNQE LFm BORTIN SFI Wedd, BRENTIT FeNed @@ BIRW 0T, OND
BOBOWOTY, V3 2..90.B5T°. YUZT T BORTTNTT T3¢ Feesod v T TEE o8RoQT LTLRCWR ERYTIT),
e Rrodo B3 T3 Fod Ferdodd, IR 2.900.85T°. VBT T TNRTTINCT Wil FIBFeH FerdodRNSoTe QoWITRY
DUBTRUEAYLIRD. FITAM FoROWoRY, FoReFFS NI IHLIYT 7B BFPS I Ferdodn IR Bpowdm (@) B3
T, B0IRT T 2.0, G UZT THONQ BB TTRNTT F 3o B B Fobe IBeBHTHR,
439 1.BNACR BEBGBD ePBRel AR Feeoms Road o) Recomied Joss,
IR0, T BRFODY, 236 DFRR WIIWRTTH.
3: I3 F2E 100 I3RL .9ReoRTIR. BoSR0Rd BCID 4 BEG03NIR, (WFONRERY) teripoRZd. Je) Yvgs TYDY,
TOTB) SRBELIBIRT GVITH) 03, BRRERY, 1womd [ed Y 2.0T3808 T, FOCIRT YVITNTBO0T Ve GPRRITT ARt
20, BR0RIROT GUZTE, ROTB> BRR. DFe LTTR B BIN DY FeBO 0T YFTBRY, B[R, B0, WRBLEED.
DR WVFTRF) T WHBNICPNTT T €8 20.200.5T°. $UZT Toodd B0ed Fe0 57 WFem Hed Tpotood LTI IHFY,
T9g, ROHTHBY WRTLIER. 2..00.8T°. Y0Z3 BT TYODYF DBTE BRWIRER) MRV
DR BNV ABRT WoERD. DeR It evgoo.
33 3UREN TNV, BB BRI 3N, BedReANT. BB BRFOD BT 0 PoriEYotie Vesy) o3wES Oedosd MBI
SRBELTY,
BOEFOR BTN, BRWIAT 08 Nod WORT FFEE 1.220.80°. YVIT BT TYONY, VBT MHTBO BRI
QQFIeBD. RoEFFT WORd ATYTOT %.20.8T°. YVIT TYODT) IR B[ THDFRB EBF IRTEALBITRL A3y Iy
SATTBYP30e Bo9ETITT,
T 95 3y wor] iRAHORZS. 35E FIYE Tomiew LVotnTS, Tehdky wor W FEYR) HEIWHR. BB B3
BIRL, IRt RRTORLTER BorimpEod BIRLe LodmmNTI.
3R LoITRER QTSNS T[oR
SRRH 203 0 B3 B ERGQ L PR MOTHB BRRE IF) Y0ITE ToR DRICMIT.

@ wéoiraod) wéojo emédé T, TOIRFOINTS. LY HFN I, ¥uZS JeRB Bdodeomd TJR & TJR ANQBRIT
@oér@@ Ya dm @oﬁr{@ém Zor BRTRY éﬁoﬁamr{s@do

(i) egdfFodo uoda B3t uod%oa’ Te3), YVITRT) VERTT, WYTOR 20T YUZTF) FOCWTHIL AT BT, IR, Y0IT 0T
w@ﬁ:ﬁwe:arb@do méa oees Soatedodoe wérﬁ (nfole @@wmb@cb

(i) e HFoIo wéﬁkojam%m@ VI 05T méddﬁg{@ed@m@ﬁ ] wéj BRI TR DHIRNODL,

a3re)T3e 00303 FRS® FperRd BIT 00N m?mga#/#mﬁaéeﬁa@ TPINRD amﬁamgw’% Toege deon®
(S etaolatciont BRI, QReRT.

Note : English version of the instructions is printed on the back cover of this booklet.
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2OTD  ERIITIY,  YUIRFT DT
DIODBE  WRERWHED 1 mA DO
ROMRTE AT 09 mA SN, VTT
WeERT P

1 9

(2) 10

3 11

4) 09

BE0D FPWRT Fo, n > 4 TRoONI
©WoBNLL  AGPBIRN  WROIEINTY,
R0LIRRe0R ©08NY Fos,

(1) 68
(2) 32
(3) 16
(4) 60

303 O, ©OTBREOTTAT  WoTRCOTINS

SRBFIRVR), VBT AB00T

po 1
2nRC

(D

(2)

(2-A)

20> 3eond [OI3 Ao, Iy V' oI

wRYNY  HSIT  wogond (1)  Hded
HVOORATIZT 9T SeNT3.
V= %—E; a>0, b>0.
Tr T
BEANTD e ARERCOTTYTT,
NG Jove)

(1)

(2)

(3)

(4)

PlT TR (R |y

DFTRTT FTITOT BOBODTI, BTWIFRI
FEOT BREVEOD ERen L SNEy, Feedeod
e;sda’rdﬁ;% QrORRRYAEE w08y WO
5§o§a&l @drm@gﬁ@%dd, J0ITTE), TR
BRECO STena)

(1)

(2)

N N N

3) 2L

(4) 4L

DTWT® BB WOAOT FeBNE FTOOF0I0
WOIT Bowoqd BRodT), B8 IINT IR
ToWORO0T SREOINT ?

(1) BOEO =C
(2) By=Ege
(3) EO = Boc

(4) BoEq=c?
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In a transistor, the change in emitter
current is 1 mA and collector current is
0-9 mA. The value of B is

(1 9

(2) 10
3 11
4) 09

If elements with principal quantum
number n > 4 were not allowed in nature,

the number of possible elements would be

(1) 68
(2) 32
(3 16
(4) 60

The frequency of oscillations in a phase

shift oscillator is given by

(1= 27;%0
@ f= 4;{0
3) f= 2njﬁ
4) =296
RC

(3-A)

The mutual potential energy V of two

particles depends on their mutual
distance r, as follows :
= %—E; a>0, b>0
Tr T

If the particles are in static equilibrium,
the separation is

2a
b

2b
a

(D)

(2)

3)

(4)

o |T T ®

A particle performing uniform circular
motion has angular momentum L. If its
angular frequency is doubled and its
kinetic energy is halved, then the new
angular momentum is

L
1) =
(D )
L
(2) 1
3) 2L
(4) 4L

The amplitudes of electric and magnetic
fields are related to each other by the
relation

(1) ByEg=c
(2) By=Egc

(3) Egy =By
(4) ByE=c?



7. omoRodm L= ak®+by® - kxy |10. 16 uF 083 1000 V T Bo03RewSoRd)

ToWoRT T, S0EREOID TRTBLO  WIRRMOD B33RoTR 8 pF
b2 9 203Y 250 @a%ﬁ@@g B3 FTRWONY
X y -
(1) EN + b +kxy %E’D%#oﬁéoﬁw
g 2 1 32
(2) P—X + P—y — kxy 2 8
2 p2 4) 2
(3) PX y k
4a ap W 11. N; 393 Ny nsh 330mn 903 @ord
p2 | p2 B0edT B8 BOWE FOBENTPNTY, &N BT
(4) ﬁ + kxy Towed @@Jb@d)ﬁ%@&ﬁ QU ORPR)
(1) NZ = Nl
8. 2kg z‘j)dgméoda 39%y) BOROTON €03 ¢t (2) Ny>Nj
#mojodé;% 930 7\)?@555% @JG@SU%@Q (3) Nz < Nl
T =5 - 22 208 Qe W Ne ]
kg m2s! DR wrs, TN
t =2 s TOT 35T FReQEOD SHeny) 12. w00 SIFE, A Ty B’ 2Ry 0809
QUGN 330N 3 em &0BY 5 cm BN,
(1) -40k ‘A’ 3023 B’ 1o Bowen Ry w039 Ry nsb
@ - 80k BIRTNDL @B p,  BZ pp
. @%Q{qu%é SNTY ROIRT  Tewd
(3) 80k nOTIER
(4) 40k (1) RaA>Rp, py>pp
(2) RB > RA’ Pa > Pg
9. CRTSE ZY BFTd F§odn 051 MeV (3) Rp>Rp, p,<pg
[T, WBY WO DT 9-69 MeV 0B (4) Rpy<Rp, p,=pg
BT FHORY, BROVTY, BIRT FCTT | 13. S’ 300 2Dy, 1t FOLOHITOZ
R 9TT E’O?gg@ BR,000NY &ROTTR) 1) 0
(1) 19:1 (2) %
(2 20:1 @ 1
4 =
4) 1:20 2

272 (4-A)
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The Hamiltonian corresponding to the
Lagrangian L = ax? + by2 — kxy is

(1) % + Z—}E + kxy
(2) Z—’z + z—i — kxy
(3) % + 4—}5) + kxy
(4) PET;OP}? + kxy

A particle of mass 2 kg is moving such
that at time ‘t’, its position in metres is

. — A PEA
given by r (t) = 51 — 2t“j . The angular

momentum of the particle at t = 2 s about

2 1

the origin, in kg m “s™, is

(1) —40k
@ —80k
(3) 80k
(4) 40k

The rest mass energy of an electron is
0-51 MeV. The moving electron has K.E.
of 9-69 MeV. The ratio of mass of the
moving electron to its rest mass is

(1) 19:1
(2) 20:1
3 1:19
(4) 1:20

G-A)

10.

11.

12.

13.

The minimum number of capacitors, each
of 8 uF and 250 volts, used to make a
combination of 16 uF and 1000 V is

(1) 32
(2 8
3 4
4 2

If N; and N, are the populations of lower

and upper energy levels respectively, then
the condition for population inversion is

(1) Ny=N;
(2) Ny>N;
(3) Ny<N;

1

Ny < —
2 Nl

(4)

Two copper wires ‘A’ and ‘B’ of same
diameter have lengths 3 cm and 5 cm
respectively. R, and Rp are the

resistances of ‘A’ and ‘B’ and p A and Py

are the resistivities respectively. Identify
the correct statement.

(D
(2)
3
(4)
The ‘S’ value for the state 2D3/2 is given
by
(1)

RA>RB’ pA>pB
RB>RA’ pA>pB
Ra>Rp, py<pp

Ra < Rp, P = Pp

S

(2)

e R

3)

(4)

o | o



14.

15.

16.

17.
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SUFNE ToRT VAT LODET QWS FOTIF
QOITITRY, BOTT),

(1) BB

(2) Tesdeadd Rowsen

3) 3%

(4) BReeod Tolen

TROF0ZEOD TRNR B3 FINTHNG  F3
VTIHOEF C3NT)T ?

(1) 3D

(2) ORI

(3)
(4)

TSI
WD
W

SREODTT BNYTE B FF IR
VT ?

(1) FERE :0BY SHRTFOOT AT
GVOEINMINT
032RTBeRCBF R0T
BB TP PVOEBNIDT
FRR e Q0T
GVOEINMINT

B3 CIRRYTP W

(2) 230003035°

(3) &eO030TF*

(4)
2,003 BoZ0D TTBI) QROLRRPATHN &
B0803) AGAITAECITD O30T BRREY VI

(1)
(2)
(3)
(4)

T, T, BTOYTO
QRPN
ST QTIR)TI
BRI BRI

(6-A)

18.

19.

20.

21.

D B W QORI BR) 533 TTRIY
©R0TEN 400 K 3y 350 K Tonie
20T ToWB/I), 350 K @033 300 K &N
TS OB Q0L W) Tedd WQT TF?
(1) 2 Q0BT & QORI No3 1:8% dﬁ%
©QT T

D BOWT® W QORI NoB 1-8% TR,
QB TF

W QORI @ YowT NoZ 3-6% TR,
©QT T

D BOWT W QORI NoB 3-6% TR,
QB TF

VIR WY TR m; AW, B
v =06 c Ienn BORTn  @To
G33,093032

(D)

(2)
3)

(4)

my

(2)

(3)

(4) 2m,

WOTH BFTF) AOW DEFBOOT TRTmN
5?%&? BN BORET,  SWTIF 0BT
ERedF030

1) 3R

(2) @OT

(3)  WTRNRD

(4) TeSRNRT

3 DI @daéw%s&%é QIRROT
@d%@éo\%eoja QITHT  STOMOOSTP
1125 nm NoZ 3RED JIINRORT. T
TOBTTI T ©903TY)

(1) 05eV

(2) 0-7eV

(3) 11eV

(4) 09eV



14. The first law of thermodynamics is the

15.

16.

17.

272

law of conservation of

(1)
(2)
(3)
(4)

Which of the following is an example for
diamagnetic material ?

(1)
(2)
(3)
(4)

Which of the following is an example of
nuclear fusion ?

(1)

(2)

(3)
(4)

If the temperature of a wire is doubled,
the Young’s modulus of elasticity will

(D
(2)
3)
(4)

18.

mass
linear momentum
energy

angular momentum

Zinc 19.
Aluminium
Platinum

Iron

Formation of water from hydrogen

and oxygen 20.

Formation of barium and krypton
from uranium

Formation of helium from hydrogen

None of these

21.

become four times
be doubled
remain the same

decrease

(7-A)

Two engines A and B have their sources
at 400 K and 350 K and sinks at 350 K
and 300 K respectively. Which engine is
more efficient and by what amount ?

(1) Engine B is more efficient than
engine A by 1-8%
(2) Engine A is more efficient than
engine B by 1-8%
(3) Engine B is more efficient than
engine A by 3:6%
Engine A is more efficient than

engine B by 3:6%

(4)

The rest mass of an electron is m;. When

it moves with the velocity v = 0-6 ¢, then
its mass is

(1)

my

(2)

— m
4 0
‘o,
5 0

211’10

(3)
4)

A source is moving away from a
stationary observer with the velocity of
sound. What frequency will be observed ?

(1) Less

(2) More

(3)  Unchanged

(4) Cannot say

The electrical conductivity of a
semiconductor increases when an

electromagnetic radiation of wavelength
shorter than 1125 nm is incident on it.
The energy gap of the semiconductor is

(1) 05eV
(2) 07eV
(3) 11eV
4) 09eV



22,

23.

24.
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T0D FeoQE PRERTT T BONT 0T

(1) 50%

(2) 52:35%

3) 74:04%

(4) 68%

sLi” 3 008 7-01816 amu &N gLi° 3
T93030 6:01692 amu R0 gn' T THOOI0
1-00893 amu 33 3Li7 8, 30,8008 Woi
33032

(1) 051 MeV
(2)
(3)

(4)

1:02 MeV
2:08 MeV

7-17 MeV

B NI CcInE  opulE @RmEosd
233, TAOTON IFOI TRoTIIT ?

A— >
e o

(1)

X = AB + AB
(2) X=AB +AB
(3) X=AB + AB

(4) X=AB +AB

(8-A)

25.

26.

217.

5 6 17
0 -19 23|I 0N PSned
0 0 37

(1) -19,5,37

(2) 19,-5,-37

3) 2,-3,7

(4) 3,-5,37

R ExT FBeod RTVoNY, DTYEE
Voo®  GVOERMOGTITON  ATIPOL  F903
Beg, BTLYOD g FeoTH0T T TRTTYTY,
r >> R &eR wBennIm)d

1 1
I

1

I,3/2

(2)

1
® =
I‘Z

1

(4)
3

T8 OTORPOTTY), AR BRWRDTE),
QST Tone ToFNE WTE 4:2 x 108 m™>
22). QOFR, Sellaieviclelary
RO RRYATIN  AdRT AT
6 x 1012 m? 7 DS, WIS TR
Tog, WTE R, ?

(D
(2)

(3)
4)

2:94 x 104 m™2
2:94 x 10* m™2

2:94 x 104 m~3
2:94 x 10 m™3



22.

23.

24.
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The packing factor in case of a
body-centred cubic cell is

(1) 50%

(2) 52:35%

3) 74:04%

(4) 68%

Given that the mass of gLi’ is

7-01816 amu, the mass of L% is
6:01692 amu and the mass of Onl is

1-00893 amu, the binding energy of a
neutron in a 3Li7 nucleus is

(1) 051 MeV
(2) 1-02 MeV
(3) 2-08 MeV
(4) 717 MeV

Which of the following logic expressions
represents the logic diagram shown ?

A— >
e o

(1) X=AB + AB

(2) X=AB +AB
(3) X = AB + AB

(4) X=AB +AB

(9-A)

25.

26.

217.

5 6 17

The eigenvalues of |0 —-19 23| are

0 0 37
(1) -19,5,37
(2) 19,-5,-37
3 2,-3,7
(4) 3, - 5’ 37
A circular coil of radius ‘R’ carries an
electric current. The magnetic field due to
the coil at a point on the axis of the coil

located at a distance ‘v’ from the centre of
the coil such that r >> R varies as

1 1
T

(2)

1
Q) —

2
4) —

A semiconductor has equal electron and
hole concentration of 42 x 108 m™. On
the
electron concentration increases to
6 x 1012 m™. What is the new hole

concentration ?

doping with a certain impurity,

(1) 294x10%m3
(2 294x10*m™
(3) 294x10 m3

(4) 294 x10%m3
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29.

30.
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CBRRT ?

(1) Ipeed

(2) BRI

(3) eﬁer%ﬁsa

(4) TR
)]

20 B8y Reem,o8 % 239878 500 m

NG/ TRTE A0S VTP, N
QT e wesd ?

(1) 500 us

(2) 2:22us

(3) 502us

(4) 222 us

2WOTD  WBTEHCO) IO TRPFCOT)
©ORT LRI @qﬁrdo—-bw RBOONTIE,
FOWIT  LvvTen  BOODYT  Fos oD
QIO

1

1
(1) 7

(2)

DO |

(3)

(4)

(10-A)

31.

32.

33.

34.

27 SR BR2eE0 § E . d¥ = =
s

QTRLRIT)T

(1) MRS QT 30D QO3

(2) ™S 3908000 V0T

(3)  F,TEOD DO

(4)  e30030T°S V0T

WTEFIOD WJeR AT0BE HWOeTR, Feosy
983 HeREO AT 2080 R

(1) T3 Fenwy) S0

(2) @30 BF0d WFoITNZT

(3) wTT BRPOd BT Mg

4) 35 SRR ¥,

pselevtan) mimedoﬁdoq EADIAESY)
BN EINTIRT OO ?

(1) 2EOIes TIBRENTT) GG eLIRTYT3
(2) wWIIE TORPEONTI, B¢ &N
SOOI

T 38 QVOERMITOT TBRBITYTO

Sexo® magdmdeeﬁojasg{ BNRORT

3)
(4)
DT £e3 308 (E ) 3% s0secd 43,
308 (H) nésomss & 36N oins
SRR Hoo0TS

(1) drer

(2) BReTES

(3) oUBS

4)  pedEs B3y pCEE Reod
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29.
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Which of the following is not a
fundamental particle ?

(1)  Proton

(2) Neutron

(3) Alpha particle

(4) Electron

The refractive index of water is % How

much time will the light take to travel
through a water column of length 500 m ?

(1) 500 us

(2) 2:22us

(3) 5-02us

(4) 222 pus

The fraction of initial number of
radioactive nuclei which
undecayed after half of a half-life of a

radioactive sample is

remain

1
]_ _
SN
2 =
1
3 -
® ok
1
(4) 1

(11-A)

31.

32.

33.

34.

€0

_)
The Maxwell’s equation § E.ds =2

S

illustrates
(D)
(2)
3)
(4)

Gauss’ law for electricity
Gauss’ law for magnetism
Faraday’s law

Ampere’s law

According to Special theory of Relativity,
if a particle travels with the speed of
light, then

(D
(2)
(3)
4)

its velocity will soon become infinite
its mass will become infinite
its mass will reduce to zero

None of the above

What is the need to achieve population
inversion ?

(D
(2)

To excite most of the atoms

To bring most of the atoms to

ground state
To achieve stable condition

(3)
(4)

To reduce the time of production of
Laser

_)
The ratio of electric field vector (E ) and

%
magnetic field vector (H ) has the
dimensions of

(D
(2)
3
4)

Resistance
Inductance
Capacitance

Product of
capacitance

inductance and



35.

36.

37.

38.
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Jeody¢ (Rayleigh) 23300008030 2303003
BI3S JWeed ITorwosTey (M) BWB
BRIEITRONORNTIZT.

(1)
(2)
(3)

(4)

2l R B e

SREERTT TSN mH0IN 106 s 33,
@3 30D @20%3:«%3 DNBOZTS ?
(1) 303

)
(2) 1-:05x10735J
(3)

105 x 10728 g
(4) 1-:05x10721J

TR BREFAH 100 + 5 Q 2283 150 + 15 Q
resy, Rotsene), AoBeraT. dReEneds
FEAD FRResE T ANGS, S0
BOERRE SRCFRR), oert T FBRTLIT

(D
(2)

250 £ 20 Q
250+10 Q
(3) 250+15-8Q
(4) 250+10-6Q

@ XBpern (de clelelnlecioie
AETTHTE), IT0MROITR) TIPS
30ee3 B3 FPFoBOS LTWLOWRTIZTS

Broglie)

(D
(2)
(3)
(4)

39.

40.

41.

csgeacke (2BU) apus @eod e

92
(*%pb) womrt am, o W B FOMD
ed

VLT BN0ZES ?
(1) 6 a-Bane, 8 p-Beansd
(2)
(3)

(4)

8 a-BLANLD, 6 B-Teaned
7 0-3LANLD, 2 B-TEOMD
4 o-BEANLD, 4 B-FLONSO

TRSTOR (FORRe B0, 78) Ly, B 83803
300omo30y) 1321 A ©NSHEE.  w.omd
@RS BRI 4174 A IDon3eo L,
X-30eon¥s)  GVIRFAGT. & WmOuE

B0 TORmE Fos,0d0
(Lq § $0653 b 200083 SR, = 74)
1 77
(2) 170
3) 74
(4) 47

TR WD FeodT PPI TS (face
centred cubic) 0T BRODTITT O
T3 BORRED & 1278 A SNGT &3S
ADOTE DXBOZTS ?

(ToT TBRPER BT = 6354 T,0)

898 g cm™>
3

(1)

(2) 98gcm™

(3) 79gem™

3

(4) 49gcm”

(12-A)
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36.

37.

38.
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In Rayleigh scattering, amount of

scattered light is proportional to

S

®) é—
3) %3
(4) %4

The duration of rotor pulse is 10~ 65. The
uncertainty in its energy is

(1)
(2)
(3)
(4)

zero

105 x 1073% J
105 x 10728 J
105 x 10721 J

Two resistances 100 £ 5 Q and 150 £ 15 Q
are connected in series. If the deviations
resultant

are standard deviations,

resistance can be expressed as

(1) 250+20Q
(2) 250+10Q
(3) 250+15-8Q
(4) 250+10-6Q

The dependence of de Broglie wavelength
on temperature is

(1) T?
2 T3
(3) T—1/2
(4) T3/2

39.

40.

41.

The number of oo and  particles emitted
when Uranium (232U) decays to Lead
(2% pp) is
(1)
(2)
3)

(4)

6 o-particles, 8 B-particles
8 a-particles, 6 B-particles
7 a-particles, 2 B-particles

4 o-particles, 4 B-particles

The wavelength of L, X-ray spectral line
of platinum (Atomic number 78) is
1-321 A. An unknown substance emits
L, X-rays of wavelength 4174 A. The
atomic number of the unknown substance

is (constant b for Ly, line = 7-4)
(1)
(2)
(3)
(4)

77
70
74

47

Copper has face centred cubic (fce)
structure and its atomic radius is 1-278 A.

The density of copper is

(Atomic weight of copper = 63:54 g)
(1) 898gem™
(2) 98gem™
(3) T7T9gem™

(4) 49¢ em ™

(13-A)
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R0 FHoeds oS, deﬁfaeézgir@ ‘o
ONTOZS. M SR, TFPTS0I0Y, 20w
TATZY, WeoaDd & (R) SR, ZTY
Prawed Sedos DVASINTS
DPTBICD NeFe30

3TN

(1) MsR

(2)
(3

MgR

(4) 1

300 volt/em TIWHT DT FeBTY
106 m/s SR, Beneon WO T GRT
3Tened  ROROWRNTIT &RT
TTRTOTERY, YVOLDTREOTS. 2,00 Wed
TGP $T0NY  Senwy) doo%mwcﬁd,
SCENETY,  wide FTHTB  BRNAFEY,
NPTV BTN DTYT §eBW)

1m

1200 volt/cm
1200 volt/m
600 volt/m
2400 volt/cm

(1)
(2)
(3)
(4)
X-30e0 RIS WZoWATON DTT DU /
©0BEBYOD [IYARI) WTOWICHNT. ST
POTTOTITN WRONTOINT WFTETI

1) e TRz

(2) BIF TooNWRT FHOIRMITT

(3) &3 FeedmogTs

(4)  BIF STONTWRT FeedRoBTS

45.

46.

47.

VORI FHeF F  RFFFPOZY
(32%B8), 4125 eV NSO, 3 e I
e AT Do IBLERYRL,
(35 B0onERTY

(1) 3000 A

(2) 3100 A

(3) 4200 A

(4) 1500 A

A B B @200 20 R RRONWD
680 Hz ITNY So2ramm BRROZS. WYy,
F[Bodo ‘w RTBenon A 0B B K
ORI, RO Benzy) 340 Q0YA. 97T,
#3030 T FBoRR 10 WS FevadRgen
w8 BS 2a0esd ?

(1) 2m/s

(2) 2-5m/s

3) 3m/s

(4) 3-5m/s

A 32) B Qoione dozfgs SRS B3R
FOB B

2Q 2Q
4 Q
AN
2Q 2Q
6 Q
A AN B
1Q 20
1) 29
(2 3Q
3) 15Q
4) 5Q

(14-A)



42,

43.

44.
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If ‘g’ is the acceleration due to gravity on
the Earth’s surface, the gain in potential
energy of an object of mass ‘M’ raised
from the surface of the Earth to a height
equal to the radius R of the Earth is

MgR

(1) 5

(2)
(3)

2 MgR
MgR
MgR

4) 4

Cathode rays of velocity 10% m/s describe
an approximate circular path of radius
1 metre in an electric field of 300 volt/cm.
If the velocity of cathode rays is doubled,
the value of electric field needed so that
the rays describe the same circular path
is

(1) 1200 volt/cm
(2) 1200 volt/m
(3) 600 volt/m
(4) 2400 volt/cm

The potential difference applied to an
X-ray tube is increased. As a result, in the
emitted radiation

(D
(2)
3)
(4)

the intensity increases
the minimum wavelength increases
the intensity decreases

the minimum wavelength decreases

(15-A)

45.

46.

47.

The work function for aluminium surface
is 4-125 eV. The cut-off wavelength for
photoelectric effect for this surface is

(1) 3000 A

(2) 3100A

(3) 4200A

(4) 1500 A

Two sources A and B are sounding notes
of frequency 680 Hz. A listener moves
from A to B with constant velocity ‘u’. If
the speed of sound is 340 m/s, what must
be the value of ‘u’, so that he hears

10 beats/sec ?
(1) 2m/s
(2) 2:5m/s
(3) 3m/s
(4) 3-5m/s

Find the equivalent resistance between

points A and B.
2Q 2Q
4Q
ANAA
2Q 2Q
6 Q
A AN B
1 2Q
(2 3Q
3) 15Q
4) 5Q
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o TV B NED B3 AROCFTEIT WAIRONFOTT
3x* + 4x + 5 =0, &N l+% 5030 9

[0
230

1 -

| oo

(2) -

[S RN

3) -

Lo | ot

4)

o | ot

(4,-2) BeoTonoy, Tonw

x® +y% - 2x — 4y — 20 = 0 B33 FeoT3
BRCE T BRTVFOBZT  FITI
TREFTED

1 X+y°+8x—4y-5=0

(2) x2+y2—8x+4y+520
3) xX*+y°-8x+4y-5=0

4 X+y+8x—4y+5=0

(16 —A)

50.

51.

52.

2,000 F0RWRY, h AWewTT  HYTRTOB
RRCRYTT  BDAOWOT  WEPTN @d%ﬁ
SOEB BT t FFoBONY Tood wesd.

% FEom> RRNTE, &5 5035 HETITS ?

1) Jodoz % e, 03TTE.

@ Soood L aor. 0300,

(3) Jodor % e, 03TTE.

@ s@aodg 206, ©0333E),

momr{%oso 0TBCH x kg m3 BOZ
Q60T ToTBCI y kg m3 B3P, m
23030, FWI0WONTE FONWN, TRZTERNAI
R,

(1) 3

m(y —x) m~
y—Xx m-3
m

(2)

mxy (x —y) m>

“[3-5]

TOTOFEF DO TROFF T LoD

3

(4)

(D

(2)

3

(4)
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If o and P are the sorts of the equation

3x2 + 4x + 5 = 0, then l+1 is equal to
o

(1) —%
@ -3
(3) —g
@ 2

The equation of a circle that passes

through the centre of

X2 + y2 — 2x — 4y — 20 = 0 and having its

centre (4, -2) is
(1) +y?+8x—4y-5=0
(2) x2+y2—8x+4y+520
2 +y2-8x+4y—-5=0

(3

4 X+y+8x—4y+5=0

(17-A)

50. A body is released from the top of a tower

51.

52.

of height h metres. It takes time t seconds
to reach the ground. Where is the body at

time % seconds ?

(1) At g m from the ground

(2) At % m from the ground

3) At % m from the ground

(4) At g m from the ground

The density of ice is x kg m~> and that of
water is y kg m~>. What is the change in
volume when m kg of ice melts ?

(1) 3

m(y —x) m~

(2)

(3)

(4)

The expression for the efficiency of a
Carnot engine is

(1) n=1_%%
(2) n:1+$—i
(3) nzl—%
(4) n=1+,’£—;
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54.
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WSIT WO ez, 028083
mdegfa@oe@sofﬁ N %asgé)dod, ‘N’ #osﬁgojo
BT 9733 Bodpeds 037 Lends

(1) MoH

(2)

2rH

(3)
uoN

) 2nrH

2,00 AT FpFIoD BT, TRT =B
TP BRTNY me%emmb 30woN 30 V
WY 25 V NND. ©n 3e3momatd

peddees Q003,605

(1) 10%

(2) 20%
3) 30%

4) 16:6%

55.

56.

2 0 -3
BRgE A = 4 3 1 abdi
-5 7 2

FDOWECL T DRVOIBIENY
SRPINY  [egwen  wRFBAGES  ©n
F0a08 BRFFodw

i 2 -4
(1) 3 4

- 4 2

_ 4 5]
(2) 3 7

L™ 1 2 _

_ 4 _a
(3) 6

L™ 8 _

1 0 0
4 |0 1 0

0 0 1

85 BN, o x L y Bereod
$9NS IRYENY timeBRh FRTABT: ?

3x+7 5 0 y-2
o)
y+1 2-3x 8 4

) x=—_,y=17
1 x 3y
-2
2) y=T,x= =
2 vy X )
-2
3 == =,y= —
@ = 3y 3

(4)  $RUTT BRk30W0T oRLRCED

mcégob@
[se]

(18 —A)



53. A tangent galvanometer having radius ‘r’
and ‘N’ as number of turns when used,

will have its reduction factor as

(1) MoH

(2)

2rH
noN

3

2nrH

(4)
noN

54. If a power supply has no-load and
full-load voltages of 30 V and 25 V
respectively, then percentage voltage

regulation is

(1) 10%

(2) 20%

3) 30%

4) 16:6%

272

55.

56.

2 0 -3
If the matrix A = 4 3 1|is
-5 7 2

expressed as the sum of a symmetric and

skew-symmetric  matrix, then the

symmetric matrix is

2 2 -4

W [ 2 3 4
-4 4 2
(2 4 -5

@ |0 3 7
-3 1 2
(4 4 -38]

@ | 4 6 8
-8 8 4]
1 0 0

@ [0 1 0
0 0 1

Which of the given values of x and y make
the following pairs of matrices equal ?

3x+7 5 0 y-2
and
y+1 2-3x 8 4
(1)

(2)
_1o_-2
3° 773
Not possible to find from the given
data

3
(4)

(19-A)
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1 2 x 1 -2 vy
A=0 1 0|33 B=|0 1 0

0 0 1 0 0o 1
AB = I3 =8 ®R x + y @ a8%

RROTrOZT
(1L o

(2)
3) 2

(4)

QeRR WIEY ABC FFRY, 0 3 @ad
$eoB, wNT. £ AOB = 82° 939, ~ ACB
0 IS O ?

(1) 41°
(2)

(3)

30°
60°

(4) PO

(20— A)

59. A, B, C neb FZT 0edT 20moned A o

60.

20003 FFFEy BC oSy T WomdITY,
RoQROBT. Z BTA = 40° EVWEN)
Z CAT = 44°. $35)) 33 3NT083.

A

b

i 40°
T
C

BC 30 3T 3033 LL0LDTREI
320

(D
(2)
3)
4)

BY

84°
92°
96°
104°

50 m x 40 m ©@$3 QTOW SONTITIOT
2T, FTTIITN T3 =5 QTEOF
20T ©303030T BRYEY
OISAIANGDI e 9T BOE0T
ey @eoNTE 1184 m? DRerar 0RO
DwRETNT (TN T, MRV & BT
T 0B LHONTRD) ?

34mx24m
30mx24m
34 mx 20 m
30 m x 20 m

(D
(2)
3
(4)



57.

58.

272

1 2 x 1 -2 vy

IfA=|0 1 O|andB=|0 1 0
0 0 1 0 0 1

and AB =1;, then x +y isequal to

(1 0
2 -1
3 2

(4) None of these

In the figure, ABC is a circle with centre
at O. If £ AOB = 82°, then what is the
value of £ ACB ?

C

(1) 41°
(2) 30°
(3) 60°

Cannot be determined

4)

(21-A)

59.

60.

A, B, C are three points on a circle. The
tangent at A meets BC at the point T. The
value of £ BTA = 40° and £ CAT = 44°.

Figure is shown as follows :

The angle subtended by BC at the centre
of the circle is

(1) 84°
(2) 92°
(3) 96°
(4) 104°

In the exact centre of a rectangular lawn
of dimensions 50 m x 40 m, a rectangular
pond has to be constructed in such a way
that the area of grass surrounding the
pond would be 1184 m? (See the figure
below). What is the length and breadth of
the pond ?

34mx24m
30mx24m
34 mx20m
30m x 20 m

(1)
(2)
3)
4)
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62.
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ol tRIRRYR IS Suady, b
WPTT DY WPTONTIR, ASFRTT. 13T
Bocinodn Rk vdHaEd
DORIBORRVAT LTONT DY A 0302
QY FINTPYNIY, [OOINT  FeFTED

2
1) A=k2_ 7K
2
k2
2) A=kZ_T
(2) ,
2
3) A=—%——nk2
2 2
4) A=X_ _TE
2 2

B3 P IR0 wNeFodd BAEFTED ?
A X2+2x+1=(4-x2%+3
B. —%3=(5—m(éx-§j

C. x3—xZ=(x—1)3

QeRTT  BoPRYY, FOCINRT  LVBTHTN
:do%eédmopf% :

(1) C =03,

(2) B3 C =R,

(3) A3 B IR,

4) A BRC

63.

64.

65.

% DOUWOT %2 + kx — Z = 0 BNeFBTEIT

B 333 k 233030
1 2
2 -2
1
3) 1
1
(4) 3
ro ey Tosdd OIRNEY n NoS

BRHIODT, B3 07".&)5% O30 Tewd RO,

1) nCr = nCn—r

(2) ™C,<n!

3) "P,<"C,

4 "C,<"P,

20030 AWNTPT RT3 TN r cm
&% QU FPE 9B IFFIRGN.
SRORT  WBINGD  Dgodrowde, 10 cm
2GS r (cm 59) T B3J3oed ?

10
J3

1043
2

(1)

(2)

10
243
10
342

3)

(4)

(22 -A)
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A circle is drawn inside a square so that it
touches all four sides of the square. If the
sides of the square are each k units in
length and area of the shaded regions is
A unitz, then which of the following is

correct ?

k2
2) A=kZ_T
(2) ,
2
3) A=—%——nk2
2 2
@) A=k__Tck
2 2

Which of the following is a quadratic
equation ?

A X2+2x+1=(4-x°2%+3
B. —2x2=(5—x) (2){—%)

C. x3—x2:(x—1)3

Select the code for the correct answer
from the options given below :

(1) Conly

(2) Band C only
(83) A and B only
(40 A,BandC

(23-A)

64.

65.

is a root of the equation

x2 + kx — % = 0, then the value of k is

3)

(4)

If r is a prime number less than n, then
which of the following is not correct ?

N~ =

(1) nCr = nCn—r

(2) "C,<n!

3) "P,<"C,

4 "C,<"P,

The three sides of an equilateral triangle
are tangents to a circle of radius r cm.
The sides of the triangle are each 10 cm

long as in the figure shown below. What
is the value of r (in cm) ?

60
%

10
1 -
(D) 73
- 103
10
243
10

32

3

(4)
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B BYNST ITF000 rdeiecd Besvd T
BROQTON BT BWEFAIT. ST
g 15 cm. IR SWE  €TE
2e9F00 WD 10 em BFY, & Trodd Mg,
0T ? (em® NF)

10 cm

\

15x10x§

25? x 15

(D

(2)

(3) 1043 x15
(4) 2543 x15

TRTY  BeAIRTTI)  widfie  AURRE
WORIOT BRBARRNG. 83 TINT WSH)
Feodna iy DDONISR BBy AR
WROT WRR ARWRTR. B FesnIT
=93 10 mm JTT B3 ?\()5%033@5 QURRF
020 WR0BT Whdd,| VT,

(D
(2)
(3)
4)

(15 + 5n) mm
(10 + 10%n) mm
(30 + 10nr) mm

0T CBRR)TR ),

(24 -A)

68.

69.

B3 I ZpedATOR  QODT  wHBOD
$3200Y, Feomghom  oImRTe  Fon
WOTDOATOE  TWRT 10 cm AT I
TS B0R0T WREPF 0N NOF
QYL WTVBOZ FZORTT, BTV
ATTRILO WIBRT #0RW WPTT DYeroF
O ?

2
(1) 400 (1 + ij

J2
400 (1 +4/2)2
2

400 (1 + g}

(2)

3)

(4)  RBoedT CINRTH 9,

3N 3T, DeOT ZREIO3 13, [T, BT
(VWS ¥BTZ)  wepone” D
STIONT. BT & ERLR 2omd o=
FE°R0T VETBIOWERTERITYS. 30 ORA
©Z083 EREoNY 900 DewT’ AeETO AT,
IRUONY, ©BT  TRIT  OPFIR,
B02eIETTT IeTNOT TUT VDORNTRD, ?
(1 O¢ =1 06 20T 1PIA)

<2m
1'2m1 %&
—
80 cm
(1) 84
(2) 168
(3) 54
(4) 138
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The following diagram shows a box in the
shape of a triangular prism of length
15 cm. The cross-section is an equilateral
triangle with sides of length 10 cm. What

is the volume of the box (in ¢cm?) ?

(1)

J3

2) 25— x15
(2) 1

103 x 15
2543 x 15

(3)
(4)

Three crayons are held together with an
elastic band. The diagram below shows
the ends of the crayons and the elastic
band.

If each of the crayons has diameter
10 mm, then find the total length of the
elastic band in this position.

(1) (15 + 57) mm
(2) (10 + 10%m) mm
(3) (30 +10m) mm

None of the above

(4)

(25-A)

68.

69.

For the regular octagon shown below, the
distance from its centre to any vertex is
10 cm. If the octagon had been cut from a
piece of square card that was only just
large enough, what is the area (in cm?) of
the original square card that was used to
make the octagon ?

12
1 400 |1+ —
(1) (+4§j

400 (1 ++/2)2
2
(3) 400 (14-2§5J

(2)

(4) None of the above

The diagram below shows a water tank in
the shape of a trapezoidal prism. Ashish
begins filling the water tank with a hose
pipe. After 30 minutes there is 900 litres
of water in the tank. How many more
minutes will it take until the tank is half
full of its volume ?

(Assume 1litre=1 metre3)
2m
A
12m I %é‘
s——>
80 cm
(1) 84
(2) 168
(3) 54
(4) 138
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J12 - V18
0 3e3030
J48 — 712
1
(1) 3
1
(2) 1
3
3) 1
1
(4) 5
BRFHBYT 10 A 0B TR 1ed P 3 30ed
A TBOBDFRD), _
XAY=(XNYUXNY)
QOB WYOARRTEN  RNTY,  OIRR)T
A T} BOOIBNTS ?
(1) FOBSFRe0 308 Fo03RKT WIS
T&2zN
(2) TOWIFROD  SWT FoodRERTIEY
Saitclestolelary
(3) Rocdpems =TT TOWSF IR,
WRTE SN
(4) RoodpexdT  WBY VOB
Saitclestolelary
QRRT BOTIOF O e:adl Qt R, T QW
Aoaiie QF s e a 0 b= 2 B0
DaRVTT &N 3 © (% o) %) R 0T

STV

(1)

(2)

(3)

(4)

(26 —A)

73.

74.

75.

f:7 — Z o3 bert o=

X ifxis even(?b’d))
f(x)=12

0 ifxis odd(?,f?b’)
<t )

(1) S5 £3) STT 20T30-20T30 B

(2)  2%0TO-2%W0TD ST 5T 630 W&

(3) &7 80 RBY WOT-WOT

BD° W BNOC BT LWOTO—-2W0TD

SHIVNICIOR

(4)

F (1, 00) = [2, ) 0P fx) =x+ &
2 X
0833 =i £ Hx) o3¢3 A3 3R>

(D)

(2)

(3)

(4)

1+ x2 -4

g(x) =x% + x — 2 T

% gof(x) = 2x% - 5x + 2 &T3 f(x) & QT
R

2x — 3

2x + 3

(D
(2)
3)
(4)

2x% + 8x +1

2x%2 _3x—1



73. Letf:Z— Zbe given b
70. The value of € — 4 be given by

S
SH

X .
=, if xis even
1 f(x)=<:2
(n = .
3 0 if x is odd
@2 L Then f is
4
(1) Onto but not one-one
3 3
4 (2) One-one but not onto
(4) 1 (3) Onto and one-one
2

(4) Neither one-one nor onto
71. On the power set P of a non-empty set A,
we define an operation A by
_ _ 74. IfF [1, ) — [2, =) is given by
XAY=(XNYUXNY)
) .. o
Which of the following is true of A ? fx) = x + 1 _then fl(x) e quals
(1) Commutative and associative X

without an identity 2
(2) Commutative but not associative @) x+ g
with an identity
X
(3) Associative but not commutative (2) 1o <2
without an identity
(4) Associative and commutative with g - <2 _4
an identity (3) 9
72. 1If the binary operation © is defined on the @ 1+ \/H

set Q' of all positive rational numbers by

a®b=@,then3®[l®ljisequal
4 5 2 75. Ifg(x) =x>+x—2and

to
@ 3 % gof(x) = 2x® — 5x + 2, then f(x) is equal
ﬁ to
5
2 — (1) 2x-3
160
(2) 2x+3
3
3 — 0
10 (3) 2x%+3x+1
(4) % 4) 2x>-3x-1

272 27-A)
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78.
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R0 NY $088=0R)

e o
| o
\'I|Q.'J

NG

(D)

3|
| o

w o
| =

(2)

| o
| w
| o

| =

3

| w
w | b
3| ot

| =

4)

| w
~3| Ut
W N

| =

3 38N @235%053@ QBT BRAT® m@dd
(w@sé 093033) 2363 =0 ?

(264)192 4 (264)103

(D)
(2)
3
(4)

o O s~ O

P FpowT Boedd | Dedr 600 cm? @T3
$BF (em ) T VT

(D
(2)
(3

(4)

S8 S S8 s

79.

80.

WOTD  TFIYTOR 52 HSMPOT 20T
e,sej’cmaboL BRODPNT. oD Fok) ¢
SROC L9 W0 TR A BN 20380
BoRm 3 D ?

1 L

27

@ 52

(3)

(4)

2.2, FIOOD 4 TGRYRY WIW [ 4
oBRedng e DEANYRY W3NS,
TIRGR,  wdeeddndY,
HRRATTE, SN 2R WNER IO0ERT
©EReENIVT Bored D ?

ojfaz:’g)zsémﬁ
[N]

1 L

11

@ 24

(3)

| w

23

4
4) 24

(28 —A)
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The ascending order of the numbers
1 2 5 3.
— = o, o 18
4377
2 1 3 5
(1) T T e
3 4 7 17
1 2 3 5
(2) T Ty s
43 77
1 3 2 5
(3) T o o o
4737
1 3 5 2
(4) T oy oy o
47 7 3

What is the unit digit in the following
expression ?

(264)192 4 (264)103

(1) 0
(2 4
3 6
4) 8

The surface area of a cube is 600 cm?2. The
length of its diagonal (in cm) is

10
J3

30

V3
10

v2
20

J2

(D

(2)

(3

(4)

(29-A)

79.

80.

One card is drawn from a pack of
52 cards. What is the probability that the
card drawn is either a red card or a
king ?

1 X

27

@ 52

3)

(4)

A person writes 4 letters and addresses
4 envelopes. If the letters are placed in
the envelopes at random, then what is the
probability that all letters are not placed

in the right envelopes ?

1
(D) 1

11

@ 24

3
(3) 3

23

@ 24
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DT AFND S, @B S, N
©D0TEITN 90% 3R 80%
TOORF AEIF LRT BFTINYR), BROVTY,
SR A QTFBO @B B DTFROBO
n$c@Ee 330530 FORBINTEIR
RoLIBRe0T D ?

Sy Sg

—>—/0—>—/o—

Circuit A

{HH o)

Battery

S
e 7
_/::|

SZ
Circuit B

e fomy-

Battery

18 49
1 ==
25° 50
72 20
(2)  —
100 " 100
18 20
@) —
257100

(4 B0edS CIRRTR B,

83.

(2)

3

(4)

1

33 B0eDT BN 2,

(2)

3

(4)

(30-A)

11

13

13

18
7
9

B0eDT CINR)TR B,



. -
81. If two switches S; and Sy have|82. If a, b, c are non-coplanar vectors,
respectively 90% and 80% chances of then
working, then what is the probability
- o > - > >
respectively for circuit A and circuit B to a.(bxc) + b.(axc)
0 - > 2D 5 5 o
work ? (cxa).b c.(axb)
is equal to which of the following ?
—>—S.1/o—>—/ ._Sz
1 o
Circuit A 2 2
+ - 3 1
}—{ }—{ . (4) None of the above
Battery
S
s 7
> / > 83. The value of
SZ
1
Circuit B 9
—_— 1+ o
3
2 2
1+= i
oo ol
Batt 1.2
attery 3
18 49 11
n =, = 1 —
D %550 13
13
(2) E, & 2 =
100’ 100 18
18 20 7
3 =, = 3 =
@ %5100 9

272 (31-A)



1 2 3
84. A = 2 5 —1| en A od
-3 -1 2

85.

86.

272

X92030) NG,

-1 -2 -3

(D -2 -5 1
3 1 - 2]
-1 -2 3]

(2) -2 -5 1
-3 1 - 2]
i 2 -3

3 |2 5 -1
i -1 2
-1 2 3

4) 2 -5 -1
-3 -1 -2

"P, = 90, "C, =45 933 &N n R r

hloloven

(1) n=9, r=8

(2) n=10,r=2

B8 n=9,r=2

(4) n=10,r=8

QTR Fog NP 20.70. @) 11 023 WIN
©.70.8.8). 7700. SPYNTS, 2,080 Fogd, 275
Clnle) Qﬁgodg

(1)
(2)
(3)
(4)

279
283
308
318

(32-A)

87.

88.

89.

BOEFOIROTTY, wtdd LWYRFNYY, 35%
200G, OR0GEDFTI 45% QONTIE),
OLEEIFTY W3 20%  HTEOOR,
EvERien) DTTR DRODNSE,
VeEDF THNTORST BeTW@TITY,
FOTOEROWD

(D)
(2)

3)
(4)

60%
40%
80%
20%

Z0WCH B|NS  TOPRY, VNS TOPRT
TORTTRIOZ 3 B[R TR, BT, WD
SRFAYS0IT  ZoOWCH  F[OPRY, [N
TORT  HOESHEoB T WRE T,
SR, TMRGT e SNT FODBTZY
TERRR

(1) 323RF
(2) 33 IR

(3) 30 ™=

(4) 25 JIRE

23R0e0F 23083000 ToRT RN 2: 31 5
T RTBEYES. TOFOD EreS 90°. Q9T
BROINTD,

(1)
(2)
3)
(4)

54°, 81°, 135°
55°, 85°, 130°
50°, 84°, 136°
33 CRPTR &,



84.

85.

86.
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1 2 3
If A = 2 5 —1|, then the
-3 -1 2
transpose of A is
-1 -2 — 3]
@) -2 -5 1
3 1 -2
-1 -2 3|
(2) -2 -5 1
-3 1 2]
1 2 -3
(3) 2 5 -1
3 -1 2
-1 2 3
4) 2 -5 -1
-3 -1 -2

If "P, =90, "C, =45, thenn andris
(1)
(2)
(3)
(4)

n=9, r=8
n=10, r=2
n=9, r=2

n=10, r=8

The H.C.F. of two numbers is 11 and their
L.C.M. is 7700. If one of the numbers is
275, then the other is

(1) 279
(2) 283
(3) 308
(4) 318

87.

88.

89.

In an examination 35% of the total
students failed in Hindi, 45% failed in
English and 20% in both. Find the
percentage of those who passed in both
the subjects.

(1) 60%
(2)
(3)

(4)

40%
80%

20%

The present age of a mother is 3 years
more than three times the age of her son.
After three years, the mother’s age will be
10 years more than twice the age of the

son. Find the present age of the mother.
(1)
(2)
(3)
(4)

32 years
33 years
30 years

25 years

Three angles of a quadrilateral are in the
ratio 2 : 3 : 5 and the fourth angle is 90°.

Other angles are
(1)
(2)
(3)

54°, 81°, 135°
55°, 85°, 130°
50°, 84°, 136°

None of these

(4)

(33-A)



90.

91.

92.

272

AROMRZT 2B Feodd ADoRTT (I9F)
R0 2.08¢ BT [N BING 2T 1 : 2
UROTBRYY.  TMWET  wRNS  SxT
2BOTOZR)

V3 142

V5 7

V2 i 41

B3 CINRTIP ),

(D
(2)
(3)
(4)

A=(3,57,B=(6,7,8) a030C=(7,8,9)
ST SR(ANB)x(BNC) Ofbaﬁadﬁbﬁﬁa

(D
(2)
(3)
(4)

(7,7, (7, 8)}
{(8,7), (8, 8)}
{(8,7), (7, 8)}
{(7,7), (8, 8)}

2 -3 0
A= { }, B= , &7
1 4 -1
B'A’ 2383030
. "
(1)
L - 1_
_ -
(2)
L 2 .
5 —15
3) }
4 17
'8 12
(4) }
5 7

(34-A)

93. 83 FINT TepDY 12 BT LWRFNY 2R

94.

T AT
2nF (3.22.M9Q) | Do @FY F03
67 4
70 3
72 2
73 2
75 1

SR QEHFNY FTIPO BRTH)

(D
(2)
(3)
4)

7475 kg
70-25 kg
80-18 kg

735 kg

NYFIT Fodeennd,‘d” woBong, Wemres
Vo QFEogTEEy

QOB POBNAON
WA ¢ SHEBT FOnomdP)

QBEMOTT. F© WOTT BT
(D

(2)
3 L

(4)



90. Two circular cylinders of equal volume | 93. Following table shows the weight of
have their heights in the ratio 1 : 2. Then 12 students :
the ratio of their radii is

Weight Number of
(1) 3 :42 (in kg) Students
67 4
2 V547
3) J2:41 70 3
(4) None of these 72 2
91. If A = (3, 5, 7), B = (6, 7, 8 and & 2
C=(7,8,9),then(ANB)x(B NCOC)is 75 1
equal to

D 17,7, (7, 8) The mean weight of the students is

6 1 (4) T73-5kg
2 -3 0
92. IfA-= ,B=|3 0/, then
1 4 -1
5 2 94. In Millikan’s experiment, an oil drop
B'A’ is having charge ‘q’ gets stationary on
s 137 applying a potential difference V' in
(1) between two plates separated by a
2 1] distance ‘d’. The weight of the drop is
(4 17] (1) qVd
(2) 3 9
L J qd
9y 22
_ @ A%
5 -15
(3)
4 17 EI—
- vd
'8 12
(4) (4) av
5 7 d

272 (35-A)



95.

96.

97.
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SNe1eb) m@rﬁ%ﬁo‘n mBrﬁ RFCICONT. OB
o030 2830, mswm 4 =3T3 6 D01
LIONTLTITTD omdé ebwa‘?

(1)

(2)

3

5|q WD O|H O~

(4)

20030 X-3000T 3% 10 kV 030€) 5o030¢F
QI ERIGTI. TOMOTT SR
PRTMOITR  HTFYRONY NOR, Weny
(BE : TR ADFR, AWTFE =
1-75 x 1011 coulomb/kg)

(1) 9516 x 108 ms™!

(2) 9561 x108ms™!

(3) 5916 x 10°ms™!

(4) 5961 x 108 ms™!

IETIT oI BTomwoZTy (T
@6@@@5 SR 000 = 91x 103! kg, 33 0TS
RO08 = 6:6 x 1077 Js 0B Qeor3

BRBBY, WIF8T Fen =3 x 10° m/s)
(1)  0-0241 A 0333
(2) 2410 A 8n3o23
(3) 2410 A 3n323

(4) 2410 A sn333

98.

99.

100.

RBRTFN, 2R BOBOTYT  ERIIT

QTTRODT TOOIF R &R

(1) =[&0% 000D RFoMIT [
BOFTEOD 200D YUBEFT

(2)  F808 LeRood BormFTE W8 [0F
2OOTROOL YVBLFF

TOJHOL  LeROD  BorRET R
BOITHOD 00D YUBEFT
TOJHODL  LLAD  AOTRTT WO
#,08 2003000 YV

B3 @%oﬂfao@ﬂdm DTFBOTY,
X =A+B, ¢33 a7 Imox I S 3sosn
ad%é pfve)

3)

(4)

BQ AQ

Current I

— vol

(D)
(2)

0-5 amp
1:0 amp
(3) 2:0 amp
(4) 0amp

T, uddﬁaq odfacg)z:g?mﬁ 3 RTORDY,
2 TPOTLY OB 4 mﬁé@dm TooR0T
03y, DREWETNT.  ©T0Y. adedSoN
etAleV do%;ﬁo ejoz'i%eﬁﬁod ORTODR)

(1)
(2)

3)

D D= Gk O
w =] o

(4)

(36 —A)



95.

96.

97.
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Two dice are thrown together. What is the
probability that the sum of the numbers
on the two faces is divisible by 4 or 6 ?

(1)

(2)

(3

(4)

§|\] WD O~ O]~

In an X-ray tube operating at 10 kV, the
maximum speed of electrons striking the
anode is (Data specific charge of
electron = 1-75 x 101! coulomb/kg)

(1) 9516 x 105 ms™!

(2) 9561 x10°ms™!
(3) 5916 x 108 ms™!
(4) 5961 x 105ms™!

The Compton wavelength of an electron is
(Data : Mass of electron = 9-1 x 10731 kg,
66 x 10* Js and
velocity of light in vacuum = 3 x 108 m/s)

Planck’s constant =

(1) 0-0241 A
(2) 2410A
(3) 2410A
(4) 2410A

98.

99.

100.

Normally, a transistor in a circuit
operates with
(1) Reverse Dbiased collector and

forward biased emitter

Reverse biased collector and reverse
biased emitter

(2)

(3) Forward biased collector and
forward biased emitter
(4) Forward biased collector and

reverse biased emitter

In the circuit given with this question, if
X = A + B, then I is equal to

B Q AQ
Current I
= vol
(1) 0-5amp
(2) 1-0 amp
(3) 2:0amp
(4) Oamp

Four persons are chosen at random from
a group of 3 men, 2 women and
4 children. The chance that exactly 2 of
them are children is

(D

(2)

3

(4)

RN N ok O
w = | O

(37 -A)
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